
Mathe GTK 7 – Blatt 7 

 

Abschließende Übungen zum Lösen von Gleichungen 

 

Leichte Aufgaben              Kontrollergebnisse:      104      677        158        45 

a)     x • 5 = 225 

b)     13 = x : 8 

c)     x – 342 = 335 

d)     176  = 18 + x 

 

Mittelschwere Aufgaben               Kontrollergebnisse:     7      4         5       125 

e)     10 + 8x = 42 

f)     14   = x : 10 + 4 

g)     14x – 16 = 82 

h)    74  = 4 + 10x 

j)     0,75x – 1 = 2,75 

k)     41  = x • 5 + 6 

Schwierigere Aufgaben        Kontrollergebnisse:      4      320      9        3      240      6 

l)     2 + 8x = 42 - 8 

m)     90 : 2 = 15 + x : 8 

n)     6x – 5 = 19 + 12 

o)     x : 8 – 8 = 8 • 4 

p)     255 : 3 = 9x + 4 

q)     x • 5 + 43 = 91 -33 


